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ANTHROPOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

1. The concept of “Inborn Errors of Metabolism” was developed by
(A)  Eugene Fischer (B) J.B.S. Haldane
(C)  Francis Galton (D)  Archibald Garrod
2. Which of the following is the example of sex-linked disease ?
(A)  Phenylketonuria (B) Diabetes mellitus
(C) Haemophilia (D) Thalassemia

3. The Twin-Study method was first developed by

(A) Morton (B) Galton
(C) Hooton (D) Garrod
4. An organism which feeds mostly on fruits is called
(A)  Omnivorous (B) Carnivorous
(C)  Frugivorous (D) Herbivorous

S. Maternal-foetal incompatibility in the Rh blood group system is present with
(A) Rh-ve man and Rh +ve woman
(B)  Rh +ve man and Rh +ve woman
(C) Rh +ve man and Rh —ve woman

(D) Rh-ve man and Rh —ve woman

6. PCR (Polymerase Chain Reaction) technique was invented by

(A) T.H. Morgan (B) Kary Mullis
(C) Paul Berg (D) Alec Jefferey
7. The classical example of ‘a balanced polymorphism’ maintained by heterozygous
advantage is
(A)  Sickle cell trait (B) Haemophilia
(C)  Thalassemia (D) Thrombocytopenia
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1. “IUTIF Rl ST el Tl Fehod=T i Taeh foha forar 2

(A) o fRer (B) S.uH. g
(C)  hiteH TMee (D) aifhaTes R
2. frfafiad 4 | F 91 F9-Heer T 1 Teh ITEL0TE 2
(A)  iHeTRIERRET (B) SHMSS Afeteq
(C)  Emifteleran (D)  Seiifar
3. THA eI fafer 1 Ty Tad Yeet fonaq foram 2
(A) e (B) Toed
(©) 7 (D) RIE

4. I Holl T SRO-ON0T R STt STie shl o shecl & 2
(A) el (B) WIEER!
(C) Tl (D) IMFER

5. Rh SRR o1 YoTet H HIGeh-$0T SRR Heteiad o 9 fohaeh e Sufeerd gt € ?
(A)  Rh-— ve I5Y @ Rh + ve Afget
(B) Rh + ve J&Y @1 Rh + ve Afeet
(C)  Rh + ve I&5 T Rh — ve Afee
(D)  Rh - ve 959 @1 Rh — ve HfeeT

6. TSt o RUaRT (W Y 3TR) Teheiieh ol TOIdT i & 2

(A) AT HTH (B) I Bt
(C) et (D) e SR
7. ToOUHgTEST A9 5RT U Sfed ag@udr a9 @ T U feRufdted 330l Fefafad o 9
FHATE?
(A) faFadee (B) @Emifteferan
(C)  Sordifgar (D) gr=ETEdifT



8. Which of the following did not accompany the transition from horticulture to
agriculture ?

(A)  Women lost their role as primary cultivators

(B)  Women began to assert themselves in extra-domestic contexts
(C)  The average number of children per family increased

(D) Women became increasingly restricted to the domestic sphere

9. Clifford Geertz characterizes culture as
(A) process of enculturation
(B) abiological necessity
(C)  set of control mechanisms to govern behaviour
(D) biological adaptive

10.  Which one of the following pairs is not correctly matched ?
(A)  Cross-cultural comparison : G.P. Murdock
(B)  Participant observation : Bronislaw Malinowski
(C)  Sacred complex : Emile Durkheim
(D)  Sanskritization : M.N. Srinivas

11.  Which one of the following is an example of achieved status ?
(A)  Father (B) Sibling
(C)  Daughter (D) Son

12. The Mandel Commission was constituted under which Article of the Indian
Constitution ?

(A)  Article 340 (B) Article 275
(C) Article 164 (D) Article 330

13.  Which of the following is/are example(s) of participant observation ?
(A) Dancing in a festival
(B)  Singing during a ritual
(C)  Competing in the games popular in the community
(D)  All the above

14. Which one of the following statements is not correct ?
(A)  Culture is a learned behaviour.
(B)  Culture is the man-made part of the environment.
(C)  Some cultures are superior to other cultures.
(D)  Cultural variations are important for understanding human societies.



8.  freAciiad H ¥ i 1 3 FHT T HY T TR TsHTUT & T el 8T ?
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(D) Sifersh et |
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(C)  Tche HITiay : TARH 3y

(D) H@peTES : TH.UA. Sifar
11. FEfefad 5 9 % 97 “Led U i i SR ¢ ?

(A)  foerEE (B) W€ o1 5 &
(C) e (D) A

12. YR & W€ o fohd 383 & 3Tl HUSET STTNT ST e feha 77 &7 2
(A) &I 340 (B) 3% 275
(C) 3FT=% 164 (D) 3= 330

13. TTAfrEd 9 @ 6 91/ @ SR oH a6l & §RT STaciish 1/ & SIEI0TE /€ 2
(A)  Tordl 30T O JoT T |
(B) fordll 3TIRM & HY AT T |
(C) THS H TRV Wl § Ufaas ] T |
(D) ST A |

14.  Frferiiae o @ e 91 oekied Tl el € ?
(A)  Eid U UGl g3 AR E |
(B)  Th(d, YATEROT ol Ush HHE-HIAd BT e |
(C) o GEhIdAT 37T ULl | S eIl & |
(D) IS QST i GHEH & 7T Fiah{deh Ao Tewequl & & |
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15.  Which of the following is your parallel cousin ?
(A)  Your mother’s brother’s daughter
(B)  Your mother’s sister’s son
(C)  Your father’s sister’s daughter

(D)  Your mother’s brother’s son

16.  Which one of the following emerged during post Neolithic period ?
(A)  Microlithic Tools (B) Megalithic Monuments
(C)  Wheel Made Pottery (D) Polished Chisel

17.  Which one among the following is associated with Fauresmith culture ?
(A)  Central and Western Europe (B) South and South East Asia
(C)  Australia and Oceania (D) South and East Africa

18.  What among the following is also called controlled percussion technique ?
(A)  Block-on-block technique (B) Stone hammer technique
(C)  Cylinder hammer technique (D) Grinding and polishing technique

19.  Which one of the following indicates the end of Pliocene and beginning of
Pleistocene ?

(A)  Mississippian Fauna (B) Sub-Himalayan Fauna

(C) Villafranchian Fauna (D) Scandanevian Fauna

20.  Which one of the following is a Mesolithic site of India ?
(A)  Sangankallu (B) Vadamadurai
(C)  Sarainahar Rai (D) Navadatoli

21. Assertion (A) : Genetic drift is also called Sewali Wright Effect.

Reason (R) : Sewall Wright effect is named after the American geneticist who
realized its evolutionary significance.

On the basis of the above, choose the correct answer.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)is true but (R) is false

(D)  (A) is false but (R) is true.



15. F=fetiae 9§ @ s 9eT ‘el o & 2
(A) ST GTT o WS i JA
(B)  3TUh! HTCT St & T I
(C)  3ueh ot st a1et ht Y
(D) ST HTAT S TS I G
16.  SW-AGUNIT T i 3Gty H Fefefad § 9 forueht anfayie gat ?
(A)  TTSSHITCTER (JEHUTHTOT) SUHIOT (B) TMTCATYeh (HETATSIOT) TR
(C) = W= Tgh o =1 (D)  diferer feram gam w@m
17. ToeAfcfad § @ SF 1 BRIES TEpid 3 Gefad g ?
(A) ST qAT UrSEE I (B) TR0 T STRI0T U wheTEn
(C)  Fferar aor stiwifan (D) STeT0T qAT Y STRIeRT
18. fr=feiiiaa o & fordt T Gama depier ot et ST € 2
(A)  =ATH-3HH-seATh qhIh (B) I ¢ A
(C) TafeIvet &R dhi (D)  TITERET e UifeATITT qeheieh
19. Fr=fefEd 9 9 A SAfda- g7 o 37 a9 3Teid I I % WK i T T g 2
(A) THEtatEe Siqeme (B) Ha-Tenmeram SiqaTe
(C)  ToohRfaa SiqeaTe (D) ThUSHE SIqaTE
20. [TEfIiEd § | i W & HEATSI0T it i Ueh e € ?
(A)  ETRe] (B) =RMEIE
(C) TFTEIE (D) ORI
21, AU (A) :  SHiCH Tg9 ol Qelel U2e Shae i el ST ¢ |
HROT(R)  : TS W Theke AT SRR AR ot & 9 ) W@ 7@ 8, e
Tk ST ! HETT o T e |
SURTANG 31T Te SHRUT 3 STTER TR el 3 T
(A)  (A) 3R (R) 3T &l & T (R), (A) Fl T& ATE |
(B) (A) 3R (R) ST el €, W (R), (A) Tl Tel ARAT TR € |
(C) (A TEE, R (R)TATE |
(D) (A) T e, W (R) Tl & |
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22. Assertion (A) : Sickle cell trait is very common in some African populations.

Reason (R) : Itis transmitted through Anopheles gambiae mosquito.

On the basis of the above, choose the correct answer.
(A)  (A)is true (R) is false.

(B)  (R)is true (A) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

23.  Assertion (A) : Goitre is prevalent among Himalayan population.
Reason (R) : People suffer from Goitre due to Iodine deficiency.
On the basis of the above, choose the correct answer.
(A) Both (A) and (R) are false.
(B) (A)is true (R) is false.
(C) (A)is false (R) is true.
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

24, Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Many traditional characteristics of the tribe are no longer valid in
contemporary India.

Reason (R) : Tribal communities in India have undergone profound changes in
recent time.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C)  (A) is true but (R) is false.

(D) (A) is false but (R) is true.

25. Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Material culture of a society changes at a faster pace than the
non-material culture.

Reason (R) : It takes time for people to accept new values, ideas, knowledge and
ideology.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Paper-11 8 J-0710



22.

23.

24.

25.
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ANTHAT (A) : TR ATl T AT H ST-ShITITeRT AETUT ST AT & |
HROT(R) T8 UAIThoir el Hresii o Hreas & Geid 8l € |

ST o SR W el 3 T -

(A)  (A)FEE, (R) TdE |

(B) (R)WEE, (A) TATE |

(C) (AT (R) S TEIE |

(D) (A) TN (R) I T & |

Afme (A) : Termer &5 | T arel oliv e sl SR @ U 3Tieh aiEd e @ |
FROT(R)  : STASH I FHHI o HROT AN HET Sl AR | TGT B € |

ST o TR W el 3 T -

(A) (AT (R) I T © |

(B) (A)WEE, (R) T |

(C) (A TE, (R) e |
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%R (R) : T THE § WRA § ST TS e 9 § URede SEe |

% :

(A)  (A) 3R (R) ST el & 74T (R), (A) ! Gel AT E |

(B)  (A) 3R (R) 31 W&l € @ (R), (A) i W&l AT TR & |

(C) (A FE, R (R) TW@E |

(D) (A)TEAE, R (R) T T |

T 31 et 53 T € : OB Rl 1T (A) el AT R T 38R 31 RO (R) el TATE |

ANIHAT (A) : Thdl TAIST i Hifceh YR SR TR GBI hi STUETT 3T Aterar o

iEfad e & |

&I (R) : T o, faemr, 9 qe foeReRT i WiehR A § AN hl THT ST

g
FH:
(A)  (A) 3R (R) ST el & 74T (R), (A) T Fel A& |
(B)  (A) 3R (R) 3T W&l € @ (R), (A) i W&l ATAT TR & |
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26. Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Social stratification in one or the other form is found in every society.

Reason (R) : Social differentiation and ranking are important components of
social stratification.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A)istrue and (R) is false

(D) (A) is false and (R) is true.

27. Assertion (A) : Neolithic culture could not emerge outside the nuclear area.

Reason (R) : Nuclear area is characterised by the presence of a variety of wild
plants and animals both possible and ready for domestication.

In the context of the above two statements, which one of the following is correct ?
(A)  (A)is correct and (R) is wrong.

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are wrong.

(D)  (A) is wrong and (R) is correct.

28.  Assertion (A) : Grinding and Polishing techniques were employed in Neolithic culture
for manufacturing celts.

Reason (R) : Sharp and wide cutting edged tools were necessary for reclaimation
of arable land.

In the context of the above two statements, which one of the following is correct ?
(A)  (A)is correct and (R) is wrong.

(B)  Both (A) and (R) are wrong.

(C) Both (A) and (R) are correct.

(D)  (A) is wrong and (R) is correct.

29. Arrange the order of steps in Genetic counselling :

(A) Communication and Discussion — Diagnosis — Contact & Support —
Examination and Investigation

(B) Examination and Investigation — Diagnosis — Contact & Support —
Communication and Discussion

(C) Diagnosis — Examination and Investigation — Communication and Discussion
— Contact and Support

(D) Contact and Support — Communication and Discussion — Diagnosis —
Examination and Investigation

Paper-11 10 J-0710



26.

27.

28.

29.

e 31 Ferte 58 T E < Ut BT SR (A) el AT § T S8R 31 ShRUT (R) el T E |
ATHFHUT (A) : T GHNT § & fo=arg fondll 7 fordt &9 H o/ STen e |

%R (R) : QTHTTSTeR TorSISIeRoT qIT SIUTieRToT HTHTTeh TRIehT o Hewaqol 37ead & |
% :

(A)  (A) 3R (R) ST TeT & 74T (R), (A) T Gel AT E |

(B)  (A) 3R (R) 31 W&l € @ (R), (A) Fl W&l ATAT I & |

(C) (A TEE, R (R)TATE |

(D) (A)TEAE, W (R) T T |

ANHAT (A) : TAUSORFI GEHT Fehial &8 T SR 3 el &l Geht |

HRUT (R) : Shehld & SR UISUT T STHeRT oh! STt & URelerd il € e 2
T ST ECTSRYUT ST T UTeA ST |eTet o |

ST ST RISl o YR W el (o Gel ST 18 ?
(A) (A FEET (R) TOTE |

(B) (A) @ (R) I TWETE |

(©  (A) T (R) IF T E |

(D) (A) TEAE T (R) WEE |

ANHAT (A) : TAUNIURT bl TEHId | Fe ol fofiHe st & foru g e diferst e —
T ST eheiIeht ST SRINT fema TR |

FHRT (R) : = Y % JIHSTER & TIT ST R aTet TT <HeT Sl et STSRT M 2T
AT o |

UG ST ST oG] | Fefeiad 8 9 i 91 T € ?
(A) (A FEET(R) T E |

(B) (A) TN (R) I A€ |

(C) (AT (R) S TEIE |

(D) (A) T € T (R) T2 |

SETRTeR TRTATH B Qi~Ied =RUM i ShHeG € HH AT E ?

(A)  TIERI T SMEH-UEH a2 uRerdi — FEH — ek qer J9e= — RIeTor Jo1 S |
(B)  TRIETOT QT S — &1 — TPeh e qH — [aaRi ol 3TEH-Ug T e uR=ET |
(C)  THEM — TRieToT e ST — {7 STRH-USH el Uiedl — Grqeh o JHe |
(D) TP qIT T — [T=Ri & STRMH-UEH a2 uRedi — M8 — WRieqor a0 i |

J-0710 11 Paper-11



30.  Identify the correct sequence in descending order :

(A)  Species — Subspecies — Populations — Individuals
(B)  Subspecies — Species — Populations — Individuals
(C) Individuals - Subspecies — Species — Populations
(D) Populations - Individuals — Subspecies — Species

31.  Identify the correct sequence :

(A) Diakinesis — Metaphase I — Anaphasel — Telophase |
(B)  Metaphase I — Diakinesis — Anaphasel — Telophase |
(C) Diakinesis — Telophase I — Metaphase I — Anaphase |
(D) AnaphaseI - Telophase I — Diakinesis — Metaphase I

32.  Identify the correct sequence in descending order :

(A) State — Chiefdom — Tribe — Band
(B) Tribe — State - Chiefdom — Band
(C) State — Tribe - Band — Chiefdom
(D) State — Band - Tribe — Chiefdom

33.  Identify the correct sequence in ascending order :

(A) Lineage — Phratry — Clan - Tribe
(B)  Tribe — Phratry — Clan - Lineage
(C)  Tribe — Clan - Phratry — Lineage

(D) Lineage Clan

Phratry — Tribe

34.  Arrange the following theories in order they appeared :

(A) Diffusionism - Evolutionism - Structuralism - Functionalism
(B)  Evolutionism - Diffusionism — Functionalism — Structuralism
(C) Evolutionism - Functionalism — Diffusionism — Structuralism
(D) Diffusionism - Functionalism — Evolutionism — Structuralism

35.  Arrange the following post Pleistocene environmental episodes in order in which they
occurred. Use the code given below :

L Boreal

II. Atlantic

III.  Sub-boreal

IV.  Pre-boreal
Code :

A 1 Im 1 1v
B) IV 1 I I
© ar 1v 1 II
(D) 1II I IV 1



30.  STORIEr HH Wl 3T i e o
(A) WG — S - STENr - SAre
(B) 3SWEId — Ul - e — oAt
(C) =l - Sweia - el - STem
(D) SR - AT - ITENG - W
31. TRl 3TThY SeTsu
(A) Teaferfad — BTl — TATHS I — s I
(B) Wehsll - feafrita@ — wATST I — Jrelithst
(C) Teapate® — Tl — Wl [ — TS|
(D) TSI - el — TEAmeArEd - Ul [
32. 31O A T WEl SFHH Sl UEd e
(A TE - IR - offgardt — el
(B) oTigardt — I=" - WEH - el
(C) TF - offgadt — el — WER
(D) TF - et — omfcarl - WRERI
33, 3R FH T el STHH i Ugd Y
(A) SRmEer - W - @ - aTiear
(B) omfgam™t — e - S — St
(C) omfgardt — &%1 - TR —  SSmEe
(D) SRmEelr - @9 — TRt —  STiGardr
34, ETenEd fagT= sl 3ok 339 & 5hH H IR HITTU :
(A) fomoEr - foEreER —  WEATHRAER —  UhETHFAR
(B) fowrmeR - fowoER —  UREHFAR - EEHCHSAETS
(C) ToFEeaR - UFEAEHHAR - ([OWUER — TS ATETS
(D) fEER - UFEAEERAR - ([OEdR —  GCEATCHERATETS
35. fAfaRad 3TR-3Tcd o UaTeR0NT JeA1sTl ol 37 Hied 8 & %Y § afedd Hifse |
3T 1T e T U AT
L Elfe]
II. 3fedfes
. 3u-aREe
Iv. difREe-ga
H:
(A) I I 1 IV
(B) IV 1 1 I1I
(© m v 1 1
(D) I I IV I
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36.  Arrange the following prehistoric cultures in order of their emergence. Use the code
given below :

L Gravettian

IL Solutrean

III.  Aurignacian
IV.  Magdalenian
Code :

A 1 nm mar 1Iv
(B) III 1II I 1Iv
© I1Iv 11 1 I
@) 1 1Iv 11 1III

37.  Arrange the following pluvial episodes in order in which they occurred. Use the code
given below :

L Kamasian

II. Gamblian

III.  Kageran

IV.  Kanjeran
Code :

A) III 1v 11 I
B ImIr 1 1Iv 1
<O 1 nm ma 1Iv
D) Iv 11 11 I

38.  Match an item in List — [ with an item in List — II. Use code given below :

List -1 List — 11
(a)  Foetus into man (i) Darwin
(b)  Principles of Human Genetics (i)  J.M. Tanner
(c)  The Descent of Man (ii1)) C.S. Coon
(d)  Living Races (iv) Curt Stern

Code :

@ b © @@
A (» @Gy (>[) (@1v)
B) () Gv) (@ (i)
© i) Gy @ (@Ov)
D) Gv) i) @G @)



36. TR ATdeTae SHTar Sl 37 TIGHTT % 3hH H efeerd ity | et fed T3 e

TRINT ST :

L Tafeaq
I 9iegiead
. At
IV. s
FT :

A 1 1 T IV
@ M 1o 1 1V
(C© IV T 1 I
M 1 IV 1 I

37.  FrATciad wifeuet UG i Sk i giF o e H sAaRd shitety | e i T e ot ST

FHiteTT :

I FHTTIA
. e
. &RA
IV. oA
He

(A) I IV I 1
@ M 1 IV 1
© 1 W 1 IV
M) IV T I I

38. eI H S TS HRT T A G-I 5 &1 78 71 o T Y | A 15T 7T e 1 ST

T -1 e - 11
(a)  EeE T () =
(b)  TfgueH i g SHfeRd (i) S.UH. W
(c) T&ic=amaq (i) d.Tg. F
(d) Tafem @@=t (iv) HETA

B :

(@ () () (@
A @O Gy 3G Gv)
B) Gy Gv) (@) (i)
©) i) aG) (@) Gv)
(D) @Gv) (i) () @[



39.

40.

41.

Match an item in List — I with an item in List — II. Use code given below :

List -1 List - II
(a)  X-chromosome inactivation (i) Langdon Down
(b)  Southern Blotting Technique (i)  Sutton & Boveri
(©) Trisomy-21 (ii1)) Edwin Southern

(d)  Chromosome theory of Inheritance  (iv) Mary Lyon
Code :
(@ (b () ()
A) @) @G @ >Gv)
B) Gv) @) (@ >G)
© Gv) @ (@) (i)
D) @ @) 3§ @[v)

Match an item in List — I with an item in List — II. Use code given below :

List - 1 List — 11
(a)  Turner’s syndrome (1) (47, XXY)
(b)  Down’s syndrome (i) Trisomy — 18
(©) Klinefelter’s syndrome (i) (45, X)
(d)  Edward’s syndrome (iv) Trisomy — 21

Code :

@ (b (© (@
(A ([ @) @) (@1v)
B) (i) @) @Gv) (@)
(©) i) @Gv) (@) (>
(D) () (@Gv) (G (i)

Match an item in List — I with an item in List — II. Use code given below :

List - 1 List - 11

(a) Barter (i)  Direct exchange of commodities

(b) Gift (i)  An inter-tribal ceremonial exchange operative
in Trobriand Islanders

(c) Kula (i11)) Exchange of things and objects as an essential
element

(d)  Potlach (iv) Ritualized exchange by invoking an overt
competition

Code :

(@ () () (@
A ® (@) () Gv)
B) ® Gv) (@) (i)
(©) i) (@Gv) @) @)
D) Gy (@) @) Gv)



39. eI H S TS HRT R AR G-I 5 &1 TS 71 o W Y | A 15T T e ST

e - 1 el - 11
(a)  X-hHEY sTufeawH (i) ©TeE R
(b) TR AT D (i) T UUE e
(c) TEam - 21 (il) TS Ta
(d) FHHEy TR A TRET (iv) W m

B :

(@ ) () (@
A) (i) ) @) Gv)
B) @Gv) (i) (@) (i)
© Gv) @@ (i) (i)
D) @ Gy 3G (Gv)

40. -1 5 < TS TET R AR -1 § |1 TS 71 o W Y | A 15T T e ST

et - I el - 11
(a) 9 Tagm (i) (47, XXY)
(b) T TagH (i) ZrEEEr— 18
(c) forrIthoey fagw (i) (45, X)
() UeoeH fagH (iv) ZrEdE - 21

B :

(@ ) ( (@
A @ Gy 3G (Gv)
(B) (i) () @Gv) @)
(©) i) Gv) (@) (D)
D) ® Gv) (@) (i)

41. -1 5 S TS TET 6 A -1 5 &1 TS 71 o W Y | A 15U T e S ST

et - I et - 11

(SrarEom) (=r2t)
(a) R (Fg-fafma) () v Ut ST veeT fa e
(b) e (SER) (i)  Zifsde 5 & et & Geferd s fafma
(c)  Feu (iii)  IFaTS o & T § Sl 3R T o fataea
(d) e (iv) el el o §RT ST [afma

B :

(@ () () (@
A ® (@) () Gv)
B) ® aGv) (@) (i)
(©) i) (@Gv) @) @)
D) Gy (@) @) Gv)



42.  Match an item in List — [ with an item in List — II. Use code given below :

List - 1 List — II
Concept Meaning

(a) Couvade (1) A bilateral set of close relatives

(b) Kindred (i)  Man acts as though he had just gone through
child birth

(c) Potlatch (i11)) A means of determining guilt or innocence of a
person through painful test.

(d)  Ordeal (iv)  Institution of ceremonial feasting.

Code :

(@ ) (© @
A Gy @ @>v) (i)
B) @Gv) @ (1) (i)
© Gy Gv) (@) (i)
D) ® Gy 3G (Gv)

43.  Match an item in List — [ with an item in List — II. Use code given below :

List -1 List - II
(a) M.N. Srinivas (1)  The Sacred Complex in Hindu Gaya
(b)  Irawati Karve (i)  The Muria and their Ghotul
(c)  Verrier Elwin (ii1)) The Remembered Village
(d)  L.P. Vidyarthi (1v)  Kinship Organization in India

Code :

@ () (© (@
(A) (i) @Gv) @ (D)
B) Gv) (@) (i) (i)
© i) @ @Gv) (D)
(D) i) Gv) () @)

44.  Which one of the following pairs is not correctly matched ?

(A) Neolithic site of Northern India —  Burzahom
(B)  Site of Microlithic tradition —  Sohan Valley
(C)  Cave and rock-shelter painting site —  Bhimbetka
(D)  Mesolithic site of Western India — Lagh Naj



42. -1 5 S TS TET R AR -1 5 &1 TS 71 o W Y | A KT T e ST

et - I el - 11
(FFgrIM) ()
(a) FAR ()  Tepe geifat o fgueia 92 |
(b) frge (i)  3TEH! 29 TR BT SATHTT il & S SH s UeT
e |
(c) dieew (ii) ﬁ%mﬁamwmﬁﬁw%w&
|
(d) 3fiteaet (iv) 3T HIST 1 TR |

B :

(@ ) () (@
A Gy @ @>v) (i)
B) @Gv) @ (D) (i)
© Gy Gv) (@) (i)
D) ) Gy (3G (Gv)

43. -1 5= TS TET R AR -1 5 &1 TS 71 o W Y | A 15T T e S ST

et - I et - 11
(a) UHIH. Hiend () < Tohe i o &g |
(b) e %A (i) % Afn wos S g |
(c) IR ufeam (it) g RE=E foost |
(d) T, fommeR (iv) TorAmem sivmester 3 e |

B :

(@ () ( (@
A) i) Gv) (@ ()
B) @Gv) @) (i) ()
(©) i) @ @Gv) (i)
(D) (i) (@Gv) (@) @)

44.  Trfeled & @ wF o1 38 gafed T& & ?

(A)  STRI TR T IO et — oI
(B)  g&H UTSIOT ORI hl T — WAt
(C) T UG SIcA-3TTS1 i oh Tt —  ofHeTH
(D)  Uf¥EHt YR ST HEAUTSIORIA T2t SIS



45. This consists of two lists of books and authors respectively and the candidate has to
match an item in one list with an item in the other.

List - 1 List — 11
(Name of the book) (Name of the authors)
I.  World Prehistory : an outline 1. K.P. Oakley

II. Adams Ancestor : the evolution of 2. V.G. Childe
man and his culture

III. Man the tool maker 3. Grahame Clark
IV. Man makes himself 4. L.S.B. Leakey
Code :
I I 1 1Iv
(A) 4 3 2 1
B) 3 1 2 4
<) 3 4 1 2
D) 4 1 3 2

Read the following text and choose/pick the correct answer in each of the following questions
(46 — 50) :

In some societies, the bride’s family rather than the groom’s family gives goods of
value. These gifts are given to the newly married couple and/or to the husband’s kin prior to
or upon the marriage. This type of exchange is called dowry. Dowries are prevalent in some
patriarchal cultures that stress the prestige of men and their families. In theory, dowries are a
kind of insurance that protects the interests of a wife in a patrilineal and patriarchal society.
In practice, however, dowry wealth is often appropriated by the husband and his family.
Dowry was the traditional marital exchange in India. A woman’s family had to present
wealth in jewelry, fine cloth and money to the husband’s family before the marriage took
place. The amount of wealth given was an indication of both the bride’s status and the esteem
of the husband’s kin. Wealthy parents gave a lot of property, but even poor families tried to
collect as many valuables as they could so as not to shame their daughter and themselves.

The economic burden of dowry contributed to a preference for sons over daughters
because girls were a financial liability whereas boys brought in dowry wealth when they
married. Thus, the custom of dowry contributed to female infanticide and the neglect of the
health of daughters in India and Bangladesh. However, dowry was not the only factor
involved in preferences for sons and the consequences of such preferences. Rather, a
constellation of behaviours and attitudes place value on men and undermine the worth of
women : kinship based on patrilineal descent and inheritance, subsistence strategies
emphasizing intensive agriculture done primarily by men, and male control over land.

Although outlawed by the Dowry Prohibition Act (1961, amended in 1984 and 1986),
a husband’s family often still demands specific amounts of cash or goods to contract a
marriage Young men of high status, good education, and favourable employment prospects
command large sums. Dowry demands are often made after a marriage is contracted and even
after a wedding.
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45. IO QAR SR Ol b & it S TS E | ge-l B < T H/et o1 G-l § < T /el % 9

A o
et -1 = - 11
(T BT ATH) (I T W)
[ s e : T eseete 1. &b et
[ ST5w TR : S gaiegeM ofie 89 2. dlSil. =mees
TUE &S ol
M. B S o1 A 3. U89 FIh
IV. 9 "o ferde® 4. UATEEL. ok
FT :
I I 1 IV
(A) 4 3 2 1
B) 3 1 2 4
< 3 4 1 2
D) 4 1 3 2

e 152 7T YT Rl U¢ T Uk U9 H § Hel 37X ST T Y (TR T 46 — 50)

% TSI H, oe o IRER o ST Toey T URER SgHed a&i 3l € | T SUER -a-{geied
Tt 3R / a1 ui o ReagRi i foee @ 98 91 ST 53 S & | 39 UehR ol e GesT Sheedlal & |
T&ST S I U Pk (UgHRIcHsh HEpidaT, ST TEuT 317 3% URERT st WidsT W SR 3 &, § yaferd
2 | TagT=et:, S&ST Ueh WehR o1 ST & ST fueieiia iR Argesiia Sarst | et 3 f&ei sht QRem e € |
T, FER H, S8 I THET 4fd 3R 3T URAR R o &l STt § | 9RA § 891 IRENe Jallfeeh
TR AT | it & UNaR i, {o6Te T giH @ Uget uid o TRER i e, Sged e 31X & & &9 §
TR S Tl & | S TS HRT <6l T ey ht FranisTeh Rafq 3R ufd & ReceRri & 9w 1 gah
A & | & ST g ST T I €, TR TR UNaR ot {7 SRt sgqed Ty Uehtid Y
TR & T &, TIleh SRt Gt 3R 376 370 Rl WITE=T A1 33 O |

TEST o SIS R = STl o T W Sei o o1 T6g o Ul AR 134T &, T oTgrehar forda
ST off STeIfeh TTgeh (aaTE SU S&sT JHIET o & | 3Te:, 8T ohl Wl R 3R SHTATSST § w27 919]
I 3R fedi & @RS A Ve % Ui IR fGar & | q°iy, S 6 o ues 3R uesl &
TROTHT @ ST 38T & T Reh el € | dioeh, Sgd ¥ SRR 3R giteehiur ol o Hewd od & iR ot
Y AT ol &ffed T € : fogaeta Sert iR formad W amenia RedeR, Wit &9 9 qeut gR1 ! 7
TET e Tl W SR 37 a6l Siiae Haile T 3T 9 IR Y& 1 FE0T |

TEiy gt oy atfufaw (1961, 1984 Ta 1986 © Henfyed) g1 fafuatespa &, dfd 1 aRar
31t off ToaTE T FIRATHT R o {o13 ohs a7 S3T i MH¥ad T bl HT AT & | 3o FIHISTeh
Tt & 7 yow, 3T o8t 7R 1ol TSHIR STaR SISl ST <Rl HIT e ot ffa H & | &T ot 1T
TR I T &1 T o 9% 3R faame 9= 81 5T o a1g ot 6l STl § |
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46.  Dowry system is prevalent mostly in
(A)  Patriarchal Society
(B)  Matriarchal Society
(C)  Stateless Society

(D)  Egalitarian Society

47.  Which one of the following is most common in case of dowry payment ?
(A)  Dowry payment is normally made by the bride’s family to groom.
(B)  Dowry payment is normally made to the bride by groom’s family.
(C)  Dowry payment is normally made by maternal uncle.

(D) Dowry payment is normally made by maternal aunt.

48.  The custom of dowry contributes to
(A) Genocide
(B)  Foeticide
(C) Female infanticide and neglect of daughter’s health
(D) Matricide

49. Which of the following undermine(s) the worth of women ?
(A) Inheritance
(B)  Kinship based on patrilineal descent
(C) Male control over land

(D)  All of the above

50.  The amount of wealth given as dowry was indication of
(A) the bride status only.
(B)  the esteem of the husband’s kin only.
(C)  the status of the bride’s parents only.

(D)  the bride’s status and the esteem of the husband’s kin.




46.

47.

48.

49.

50.

TEST T BTSN & F T Faferd & :
(A) TGS TS

(B)  WIGEITHE THTST

(©) T fodie g

(D) GHATER! GHTST

T&ST 3 o Al | Faitaeh 3T fiihd HH i AT 8 2

(A) AT 38T F9aY % TRER §R 58 AT S e |
(B) WA 5% o URER FRT FoaY 3 GeT 2 Sar € |
(C)  THIICAT &1 HIHT §RT a1 ST € |

(D)  HTHIAET 3T HIHT o gRT ST ST e |

TeST VT TRk Tl FTRT St & 2

(A) <A HER

(B)  HoTEM

(C) = TOTe] BT 3TR el o LT shi Suel
(D) wgET

Tt st 2vere wht fereifend o @ o/ &tfed wgamar € 2
(A)  Torma

(B)  fugaeia st TR STHTRa R¥AIR

(©) o e 7 o=

(D) ST T

TEST o &9 H S TS THIET i AT GIh &

(A) 1o Taey i AT et |

(B) To% ufdq & RYARR i U 7 |

(C) T Farare o ATTTerhl i HTHTSTR Rt & |

(D) T H G AT 3R 9 % KRR Bl HiaT & |
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